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	111
	01101111
	0
	1
	1
	0
	1
	1
	1
	1
	Marcados en rojo los primeros cambios de 1 a 0.
A partir de eso momento añadi 0 y 1 cada dos, cuatro, ocho,…

	112
	01110000
	0
	1
	1
	1
	0
	0
	0
	0
	

	113
	01110001
	0
	1
	1
	1
	0
	0
	0
	1
	

	114
	01110010
	0
	1
	1
	1
	0
	0
	1
	0
	

	115
	01110011
	0
	1
	1
	1
	0
	0
	1
	1
	

	116
	01110100
	0
	1
	1
	1
	0
	1
	0
	0
	

	117
	01110101
	0
	1
	1
	1
	0
	1
	0
	1
	

	118
	01110110
	0
	1
	1
	1
	0
	1
	1
	0
	

	119
	01110111
	0
	1
	1
	1
	0
	1
	1
	1
	

	120
	01111000
	0
	1
	1
	1
	1
	0
	0
	0
	

	121
	01111001
	0
	1
	1
	1
	1
	0
	0
	1
	

	122
	01111010
	0
	1
	1
	1
	1
	0
	1
	0
	

	123
	01111011
	0
	1
	1
	1
	1
	0
	1
	1
	

	124
	01111100
	0
	1
	1
	1
	1
	1
	0
	0
	

	125
	01111101
	0
	1
	1
	1
	1
	1
	0
	1
	

	126
	01111110
	0
	1
	1
	1
	1
	1
	1
	0
	

	127
	01111111
	0
	1
	1
	1
	1
	1
	1
	1
	

	128
	10000000
	1
	0
	0
	0
	0
	0
	0
	0
	

	129
	10000001
	1
	0
	0
	0
	0
	0
	0
	1
	

	130
	10000010
	1
	0
	0
	0
	0
	0
	1
	0
	

	131
	10000011
	1
	0
	0
	0
	0
	0
	1
	1
	

	132
	10000100
	1
	0
	0
	0
	0
	1
	0
	0
	

	133
	10000101
	1
	0
	0
	0
	0
	1
	0
	1
	

	134
	10000110
	1
	0
	0
	0
	0
	1
	1
	0
	

	135
	10000111
	1
	0
	0
	0
	0
	1
	1
	1
	

	136
	10001000
	1
	0
	0
	0
	1
	0
	0
	0
	

	137
	10001001
	1
	0
	0
	0
	1
	0
	0
	1
	

	138
	10001010
	1
	0
	0
	0
	1
	0
	1
	0
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	2447
	98F
	9
	8
	F

	2448
	990
	9
	9
	0

	2449
	991
	9
	9
	1

	2450
	992
	9
	9
	2

	2451
	993
	9
	9
	3

	2452
	994
	9
	9
	4

	2453
	995
	9
	9
	5

	2454
	996
	9
	9
	6

	2455
	997
	9
	9
	7

	2456
	998
	9
	9
	8

	2457
	999
	9
	9
	9

	2458
	99A
	9
	9
	A

	2459
	99B
	9
	9
	B

	2460
	99C
	9
	9
	C

	2461
	99D
	9
	9
	D

	2462
	99E
	9
	9
	E

	2463
	99F
	9
	9
	F

	2464
	9A0
	9
	A
	0

	2465
	9A1
	9
	A
	1

	2466
	9A2
	9
	A
	2

	2467
	9A3
	9
	A
	3

	2468
	9A4
	9
	A
	4

	2469
	9A5
	9
	A
	5

	2470
	9A6
	9
	A
	6

	2471
	9A7
	9
	A
	7

	2472
	9A8
	9
	A
	8

	2473
	9A9
	9
	A
	9



